9x41 =

1 mark
25.34 x 10 =
1 mark
101 x 1,000 =
1 mark
0.5x28 =
1 mark
836
X LA |
E——
Show
your
method
~
2 marks
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6| 3246 x8 =

1 mark
! 1% x 40 =
1 mark
8 34638
X G 2
p——
Show
your
method
S—
2 marks
9| 99.6x10=
1 mark
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10

QQ -
o W

Show

your
method

1 37|888

Show

your
method

12

+1000=4.6

13

+ 1000 =0.03

Fern House School

2 marks

2 marks

1 mark

1 mark
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14

868 + 7 =

1 mark

15

978827

Show
your
method

2 marks

16| 8 3|18 0 5 1

Show
your
method

2 marks
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17

18

19

20

120 + 12 =

91 +7=

1,210+ 11 =

180 +3 =

Fern House School

1 mark

1 mark

1 mark

1 mark
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